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QUESTION 1

When deploying API Connect on an OpenShift cluster, what are the minimum number of nodes required for high
availability for the platform? 

A. 2 Master Nodes and 2 Worker Nodes 

B. 1 Master Node and 2 Worker Nodes 

C. 1 Master Node and 3 Worker Nodes 

D. 3 Master Nodes and 3 Worker Nodes 

Correct Answer: C 

 

QUESTION 2

An integration architect has the following requirements: 

1.

 Enable applications and services to communicate reliably without calling each other directly 

2.

 Introduce process independence into the application architecture 

3.

 Improve fault tolerance and reliability throughout the system. 

Which modern integration pattern should the Architect choose? 

A. API integration 

B. Event driven publish/subscribe 

C. Application data integration 

D. High speed file transfers 

Correct Answer: D 

 

QUESTION 3

Which Command Line interface tool provides an analyze method which validates resources configuration and print
validation messages? 

A. calicoctl 

B. oc 



C. cloudctl 

D. istioctl 

Correct Answer: A 

 

QUESTION 4

What does OpenShift use to provide storage to Cloud Pak for Integration components? 

A. Network attached storage 

B. Local disk storage 

C. Persistent volume 

D. Spectrum storage 

Correct Answer: A 

 

QUESTION 5

In the image below, select the user role that can include an API endpoint to existing API products and plans, specifies
access control, and publishes the API to the developer portal for external discovery. 

Hot Area: 



Correct Answer: 



API OWNER 

 

QUESTION 6

What is the correct order of dependencies in the DataPower Gateway services point of view as they are nested into
each other? 

Select and Place: 



Correct Answer:  

 

QUESTION 7

Click the diagram that shows a decentralized IBM MQ Containerized Architecture: 

Hot Area: 



Correct Answer: 

 



 

QUESTION 8

Which is a recommended storage provider for the ROKS implementation 

A. Cloud Data Lake 

B. Kubernetes Container Storage 

C. IBM Cloud Block storage 

D. Containers Storage Block 

Correct Answer: A 

 

QUESTION 9

Which integration capability must be recovered prior to recovering an Aspera instance? 

A. DataPower Gateway 

B. MQ 

C. API Connect 

D. Event Streams 

Correct Answer: A 

 

QUESTION 10

Which of the following maximizes durability by replicating message data into three availability zones, making Event
Streams resilient to infrastructure failures? 

A. Geo-datasync 

B. Triplewrite logging 

C. PersistentVolumes 

D. Multi-zone architecture 

Correct Answer: D 

 

QUESTION 11

Which active-standby pair of queue managers uses a shared networked file system? 

A. Double resilient queue manager 



B. Replicated data queue manager 

C. Integrated HA queue manager 

D. Multi-instance queue manager 

Correct Answer: D 

 

QUESTION 12

What is the minimum requirement for an HA deployment of the Cloud Pak for Integration Platform Navigator? 

A. 3 cores across 3 worker nodes 

B. cores across 2 worker nodes 

C. 1.5 cores across 3 worker nodes 

D. 1 core across 2 worker nodes 

Correct Answer: C 

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

